
Wall Mount Kit™ #205

The Wall Mount Kit makes storing your Cyclone Rake really convenient. If you remove the wheels, the entire chassis 
and collector unit can be stored in a space just 8 inches deep. For safety, be sure to mount the hooks securely. Follow 
the directions below.

Installation

1.	� The hooks should be mounted with the bottom edges 74 inches from the floor for the Classic and Commander. 
For the Commercial PRO, XL and Z-10, the hooks should be mounted at 81 inches. You can mount them higher if 
you like. Space them 16 inches apart —the standard spacing for wall studs.

2.	� The hooks must be lag-bolted directly into 2 x 4 wall studs for strength. Use the 5/16 x 2.5 inch lag bolts 
provided. Drill 1/4 inch pilot holes to start the lag bolts. Do not fasten into plaster board. It won’t hold. 
Never use wallboard anchors.

3.	� If you don’t have 2 x 4 studs on 16 inch centers, install a secure cross brace and fasten the hooks to that. The 
brace should be a least a 1 x 8  board, securely nailed or lag bolted to the nearest wall studs. A piece  
of 2 x 8 lumber is even better. If you use a 1 x 8 board, use 5/16 bolts and nuts, not wood screws, to fasten 
the hooks.

4.	�To fasten to concrete or masonry walls, use masonry anchors(shown) and 5/16 lag 
screws. Masonry anchors are available in any hardware store. Be sure to get the 
size designed for 5/16 lag screws. Never use plastic anchors.

How to Hang Your 
Cyclone Rake

To hang the Cyclone Rake most compactly, do as follows:

1.  �Fold up the Collector and put it on the hooks first, with the  
J-hooks facing out and at the top.

2.  �Then hang the main chassis, with the hitch forks down and 
the wheels facing out.

3.  �The chassis will hang much easier if you remove the wheels from the 
caster pads first. This greatly reduces the weight, and saves space as 
well. (Tip: Always put the pins right back into the caster 
pads so you don’t lose them.)

Split-type masonry 
anchor with lag bolt.

WOODLAND POWER PRODUCTS, INC.
72 Acton Street, West Haven, Connecticut 06516	 TOLL-FREE 1-(888)-531-RAKE
www.CycloneRake.com	 ©2018, Woodland Power Products, Inc.	 01-06-040  F18

NAME QTY PART NO.

1 Wall Mount Brackets 2 01-01-
094

2 Bolt bag with (4)  5/16 x 
2.5 inch lag bolts

1 01-01-
289

1

2
PARTS LIST


